

H.P. Forest Department INTEGRATED DEVELOPMENT PROJECT (IDP)For



Source Sustainability and Climate Resilient Rain-fed Agriculture

(Implemented by H.P. Natural Resource Management Society) District Project Officer, (IDP), Sirmaur at Nahan, Tel & Fax: - 01702-222423. Email Id: dponhn@gmail.com

No. 946 Dated:	31/08/2023
То	
Shri Deepak Kumar R/O Chiya Mimyana PO Kansar Teh. Dadahu Distt. Sirmaur (HP)	
Dear Sirs,	
price of Rupees 288858/-(Two Lakh Eighty eight The accepted by us. You are also requested to sign the agree	ement form and proceed with the work not later
than 2 days under the instruction of the Project sta within the contract period.	iff, APO Paonta Sahib and ensure its completion
With the issuance of this acceptance let Security, the contract, for the above said work, stands	ter and your furnishing the required Performance concluded.
	Jomp _
	District Project Officer (IDP). Sirmaur at Nahan
Endst.No.DPO/NHN/	Dated, Nahan the/
Copy forwarded to APO Paonta Sah directed to provide/ Show site for subject cited started/completed within stipulated period under in labour engaged by the contractor duly verified by the	timation to this office. Please note that detail of

date of measurement of work, should be mention / enclosed with the bill of work.

District Project Officer (IDP) Sirmour at Nahan.

Schedule of quantity for Maintenance of Plt 2nd year Enrich-DLT under APO Paonta Job No P-3/Maint 2nd Yr /22-23

<u>ruontu</u>	JUD IVU I	J/ IVIUI	III ZIIG II					
	M Kartarpur Malgi C-25		M Kartarpur Malgi C-14 &18					
	Enrich 10	DLT 5	Enrich 10	DLT 5	Total	Rate	Amount	
1.Re-digging of pits size 45x4 5x45 cms.	800	1100	800	1100	3800	15	57000	
2.Filling of pits 45x45x45cms	800	1100	800	1100	3800	8.5	32300	
3.Planting of plants raised in P/Bags	800	1100	800	1100	3800	6.5	24700	
4.Carriage of plants from plt. Road side to plantation area pit to pit avg. lead 1.5Km. by manual labour	800	1100	800	1100	3800	7.39	42123	
Suply of fence post	25	20	25	20	90	265	23850	
Prep of fence post & digging of holes	25	20	25	20	90	28	2520	
Fixing of fenbce post	25	20	25	20	90	20	1800	
Repair of b wire	550	665	550	665	2430	5.5	13365	
Cost of P. Pags plants	800	1100	800	1100	3800	24	91200	
						Total		

Sirmour at Nahan



H.P. Forest Department INTEGRATED DEVELOPMENT PROJECT (IDP)For



Source Sustainability and Climate Resilient Rain-fed Agriculture

(Implemented by H.P. Natural Resource Management Society) District Project Officer, (IDP), Sirmaur at Nahan, Tel & Fax: - 01702-222423. Email Id: dponhn@gmail.com

No. 948 Dated:	31/08/2023
То	
Shri Naresh Kumar R/O Kanti Mashwa Teh.Kamaraoo Distt. Sirmaur (HP)	
Dear Sirs,	
plantation 2 nd year Re Aff-DLT Job No P-4/Maint./2 price of Rupees 399285/-(Three Lakh ninety nine Thaccepted by us.	eement form and proceed with the work not later
With the issuance of this acceptance le Security, the contract, for the above said work, stands	tter and your furnishing the required Performance sconcluded.
	District Project Officer (IDP). Sirmaur at Nahan
Endst.No.DPO/NHN/	Dated, Nahan the/
Copy forwarded to APO Paonta Sa directed to provide/ Show site for subject cite started/completed within stipulated period under in labour engaged by the contractor duly verified by the	ntimation to this office. Please note that detail of

date of measurement of work, should be mention / enclosed with the bill of work.

District Project Officer (IDP) Sirmour at Nahan.

Schedule of quantity for Maintenance of Plt 2nd year Re Aff-DLT under APO Paonta Job No P-4/Maint 2nd Yr /22-23

	M Kart	arpur	K Mashwa K Mashwa		hwa				
	Malgi C-15		Dhab Piplic-5 i		Dhab Piplic-5 ii				
	Re aff 7	DLT 3	Re aff 7	DLT 3	Re aff 7	DLT 3	Total	Rate	Amount
1.Re-digging of pits size 45x4 5x45 cms.	1120	660	1120	660	1120	660	5340	15	80100
2.Filling of pits 45x45x45cms	1120	660	1120	660	1120	660	5340	8	42720
3.Planting of plants raised in P/Bags	1120	660	1120	660	1120	660	5340	7	37380
4.Carriage of plants from plt. Road side to plantation area pit to pit avg. lead 1									
Km. by manual labour	1120	660	1120	660	1120	660	5340	8	42720
Suply of fence post	40	20	40	20	40	20	180	230	41400
Prep of fence post & digging of holes	40	20	40	20	40	20	180	16	2880
Fixing of fenbce post	40	20	40	20	40	20	180	24.5	4410
Repair of b wire	605	445	605	445	605	445	3150	4.5	14175
Cost of P. Pags plants	1120	660	1120	660	1120	660	5340	25	133500
						Tot	al	399285	